CHMI51 Quiz2 Spring 2019 25Pts  Name K&}

Atomic masses: H 1.008, C 12.01, N 14.01, O 16.00, Mg 24.31, Al 26.98, S 32.07, P 30.97, Cl 35.45, Ca 40.08, Mn 54.94, Ba
137.33,

SHOW ALL WORK TO RECEIVE CREDIT

1) (4 Pts) The mineral hausmannite is a compound of 55Mn and 160. If 72% of the mass of
hausmannite is due to manganese, what is the empirical formula of hausmannite?
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2) (3 pts) How many moles of CF,4 are there in 171 g of CF4?
170z | el (7794 ol
¥

3) (4 Pts) How many grams of Cl, can be prepared from the reaction of 16.0 g of MnO, and 30.0 g of

HCI according to the following chemical equation? “U)eest armou "
MnO, + 4HC1 — MnCl, + C12 +2H,0 ’ P
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4) (3 Pts) Which one of the following elements is most likely to form a 2+ ion?
w B) carbon C) sodium D) fluorine E) oxygen

5) (4 Pts) What is the empirical formula for C;gH,,0,?
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H, and excess N,?
N2 + 3H2 g 2yH3
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7) (3 Pts) Complete the following chart, in order from left to right

Isotope assNumber [Protons [Neutrons [Electrons

N 17 7 17 7




